O[gte] gt =
01/03

OIEre| IHHE O

#TA #APE #7171 #QlHF

(o] P/ E
TG 30z Sain = 2y

® e
i =

©
O OH

01| SNS H|AIZ
Sxjatet-ofH
% H|O|AS, QIAEITZ 1|0t

L RO THs

[

2022.6.7.(3) ~ 6. 28.(3H

2022.7.1.(3)

ABHIA TJEEIZ
OfHI2r: &

1008

X I = =7

N oo (=}

YERuRT

Sadiniz gty

aNNr zzoz

L|Ct 2uty2 Xt 2

>

O[E{ LTt Attsh= Lio] A &7 2

=)

m

O

=

}

L

2 o

m 33

oo M0
|0
HU

il

>

~

s O
0

o
b

0

kr / gylpick.kr)
O|HIE HAZS

#A]) 22 T *

23, U|o[7tH|off S7et URLEE H0{7ts

e
19
e

oA

X
-

o0
Pl
~
—

=
e
=
¢l

[1)al

O
=

20|, Rose, &
Rosa hybrida
=

Sttro| Shh-ofgt- 2 CH-oF &Lk



